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Problem 1: (propoesd by SABIR Ilyass)

SUPPOSE a1, 42, ...., 4, are positive real numbers with sum n ,Prove that :
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Problem 2: (propoesd by SABIR Ilyass)

Let o, a, x1, @9, ..., £, be non — negative real numbers such that

T1 X T2 X ... X Ty =a" Prove that:

T " n
&I :} T
n — n—1
IS (a+ay)  @F9)
i=1
Jd

Problem 3: (propoesd by SABIR Ilyass)

let ay,ap, ....,a,are positive real numbers , Prove that :
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SOLUTION

Problem 1:

Solution (proposed by SABIR Ilyass-SAFLMorocco,14/08/2018)

According to Cauchy-schwarz inequality , we have :
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Problem 2:

Solution (proposed by SABIR Ilyass-SAFIL,Morocco,14/08,2018)

According to AM-GM inéquality ,we have : Vi€ [1,n],¥VB=0 4+ ST >p &
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the function ¢: B8 =0+ —= (n - n; 1) — “n(g; D than we have:
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maxp(t) = — (n — :’:: ) — le: ]1_5' =G f: ;ﬂ_l the problem is completely solved
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Problem 3:
Solution(proposed by SABIR Ilyass SAfi,Morocco,17,/08/2018):

According to AM-GM inequality,we have :
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This ends the proof



